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2 1ØS 1 1☐B, how would one read it?  Does that mean (2) 1" DIA STRAIGHT bars (1) 1" SQR BENT bar?  The bent bar being 1 would only end up having a single bar in the top reinforcement over the supports.
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2 3/4"Ø  1S 1B, how would one read it?  Does that mean (2) 3/4" DIA bars, 1 STRAIGHT, 1 BENT?  Does that mean there is only 1 top bar (the 1B that is being bent) on one side of the beam at the supports?
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Roughly in the middle 3/5-ths of the beams, there are no top bars (the way bent bars work). The details indicate 3/8"ø stirrups.  Would they place say #3 or #4 (round or square) top support bars in order to hooks the stirrups or would they be wrapped around slab bars (in & out of page).
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